Multiplication d'un Binome par Deux Trinomes (C)

Simplifiez chaque expression.

1 (—5st +25%) (45" — 5* — 85%)(25® — 65% — 5)

0. (—22° — 22%)(—2* + 92 + 9)(—2° + 5z — 6)

3. (—4c® — (=" + ¢t — 8¢ (4ct — 6% + 8¢7)

L (=3r2 = 5r)(8r* — 8r® — 9r?)(—2r* — 4r + 3)

(=54 75%)(65% + 85* — 5)(—bs* — 557 — 357)

Ot

6. (29° — 49" (—g* + 79> + 49*)(—g* + 39 + 8)

3

(K TEY(9K° + 5K 4 8K (TK? — k + 2)

8. (=62 +5) (42" — 62° + 927)(—42* + 32° — 227)

9. (9a° — 9a*)(—5a® — 3a* + 6a)(—9a* + a + 2)

10. (=72% = 32)(=92* + 7Tz — 3)(72* — 8x + 9)
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